Even More Practice :  No Calculators!!

1.  Find a 3rd degree polynomial with zeros 
[image: image1.wmf]1

2

 and
[image: image2.wmf]2

i

-

. [3]






2.  
[image: image3.wmf](3)

x

-

 is a factor  of
[image: image4.wmf]32

015

xxkx

=+-+

.  Find the value of k. [3]  

3.  Find the quotient and remainder.
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4.  Use synthetic division, and hence write the division in the form 
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5.  The equation 
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 has one  root equal to -2.

Find the values of a  and the remaining root.
6.  The equation 
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 has one repeated root equal to 3.

Find the values of a and b and the remaining root. 
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